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Ellipses/\, 1

Graph of an Ellipse

Note various parts.
of an ellipse

Goverst > Minor
[ axis

Vertex

(- NP+ - K
a’ b?
Center (h, k) *remember it is the opposite sign that you see

Vertices: a tells you how many places to move left & right
from center

b tells you how many places to move up & down
from center

Major AXIiSs: the longer axis (line between vertices)
Minor AXis: the shorter axis (line between co-vertices)
Foci: 2 focus points on the major axis that make up an ellipse

- C tells you how many places to move up & down from center
- To get the foci, you need to find c usingc? = a- b?or ¢? = b*- a*
(larger denominator 1st)

- Then add c to the coordinate of the center that has the larger
denominator.

(htc, k) if the major axis is horizontal @

(h, k+c) if the major axis is vertical @

Definition demonstrated by using two
tacks and a length of string to draw an
elipse
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Graph & label important features (center,
vertices, & foci).
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5. Write the equation of the ellipse with

vertices at (2, -2) (-2, -2) (0, 3) (0, -7)
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